ESTRUCTURA : GRUPO SUSPENSI ON

GRUPO SUSPENSION

Rating: Not Rated Yet
Price:

Variant price modifier:
Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:

Discount:

Tax amount:

Ask a question about this product

Description

Ref. Titulo
PIERNA DERECHA HORQUILLA
PIERNA IZQUIERDA HORQUILLA
CABEZAL HORQUILLA
Tornillo allen M8 x 30
ABRAZADERA SUPERIOR MANUBRIO
ABRAZADERA INFERIOR MANUBRIO
TORNILLO ALLEM M8 X 1,25 X 100
C.CRUCETA C/CANO VELA
TUERCA SUPERIOR
TORNILLO CABEZA HEXAGONAL M10 X 25

© 0 N O g B~ W NP

=
o

R350200110
R350200120
R350200130
313008

R350200140
R350200145
R350200150
R350200160
R350201110
512510

Codigo

1/


https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo suspension56.png

ESTRUCTURA : GRUPO SUSPENSI ON

11
12
13
14
15
16

Titulo
TAMBOR TRABA MANUBRIO
AMORTIGUADOR TRASERO
Tornillo cabeza hexagonal M10 x 45
Arandela plana 210
Tuerca hexagonal M10
GUARDAPOLVO

Ccodigo
R350202100
R350203000N0
514510
100410
600810
350509000

2/


http://www.tcpdf.org

